# International Journal of Mathematical Archive-7(3), 2016, 1-4 IMA Available online through www.ijma.info ISSN 2229-5046 

APPROXIMATE APPROACH TO SUM OF n!<br>JEEVAN MALOTH*<br>Student of the Electrical Department,<br>St. Martin's Engineering College, Dhulapally, Secunderabad, Telangana, 500 014, India.

(Received On: 15-02-16; Revised \& Accepted On: 16-03-16)


#### Abstract

The factorial was known since $12^{\text {th }}$ century. The factorial applied to many mathematics branches. This paper gives proof to n! Formula, factorial relation with stirling first kind numbers and approximate approach to sum of n! was explained.


Keywords: $n!$ Formula, sum of $(n!\times n$ ) with Stirling first kind numbers, sum of $n!$ Approximate approach.

## 1. INTRODUCTION

The factorial concept was known since $12^{\text {th }}$ century. The factorial operation is involved in many areas of mathematics like number theory, algebra, probability theory, and exponential problems etc. Basically $n$ ! is explain ways to arrange $n$ distinct object into a sequence. i.e., permutation of the set of objects .the notation n! was introduced by Christian kramp in 1808.the factorial denoted with gamma function $(\Gamma)$ also.

The factorial ( n !) is defined for a positive integer's n as

$$
\begin{aligned}
& \mathrm{n}!=\mathrm{n} \times(\mathrm{n}-1) \times \ldots . . . \times 2 \times 1 . \\
& \mathrm{Or} \\
& \mathrm{n}!=\prod_{k=1}^{n} k
\end{aligned}
$$

To calculate n! Many formulas are derived. In this paper n! Formula given with proof as well as approximate approach to sum of $n$ ! was explained.
2.1. Statement: Prove that $m!^{k} \times\left(m^{k}-1\right)!=m^{k}!\times(m-1)!^{k}$

$$
\text { Proof: } m!^{k} \times\left(m^{k}-1\right)!=m^{k} \times(m-1)!^{k} \times\left(m^{k}-1\right)!
$$

$$
=(m-1)!^{k} \times m^{k}!
$$

Hence $m!^{k} \times\left(m^{k}-1\right)!=m^{k}!\times(m-1)!^{k}$ is proved.
2.2. Statement: Prove that $\mathrm{k}!=\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k}$

Proof: Given statement is $\mathrm{k}!=\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k}$.
This can be proving with the mathematics induction method.
For that let us take $\mathrm{k}=1$

$$
\begin{aligned}
=>1! & =\sum_{n=0}^{1}(-1)^{n} \times c_{n}^{1} \times(1+1-n)^{1} \\
& =(-1)^{0} \times c_{0}^{1} \times(2-0)^{1}+(-1)^{1} \times c_{1}^{1} \times(2-1)^{1} \\
& =c_{0}^{1} \times 2-c_{1}^{1}=1
\end{aligned}
$$

Such that at $\mathrm{k}=1$ given statement is true.
Assume at $\mathrm{k}=\mathrm{k}$ given statement is true.

Corresponding Author: Jeevan Maloth*, Student of the Electrical Department,<br>St. Martin's Engineering College, Dhulapally, Secunderabad, Telangana, 500 014, India.

Such that $\mathrm{k}!=\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k}$ is true.

$$
\begin{aligned}
(\mathrm{k}+1)! & =(\mathrm{k}+1) \times \mathrm{k}! \\
& =(\mathrm{k}+1) \times \sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k} \\
& =\mathrm{k} \times \sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k}+\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k} \\
& =\sum_{n=0}^{k+1}(-1)^{n} \times c_{n}^{k+1} \times((k+1)+1-n)^{k+1}\left[\text { W.K.T } \mathrm{k} \times c_{n}^{k}+c_{n}^{k}=c_{n}^{k+1}\right]
\end{aligned}
$$

Such that at $\mathrm{k}=\mathrm{k}+1$ given statement is true.
Hence $\mathrm{k}!=\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)^{k}$ is proved.
2.1 Statement: Prove that $\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)=0 \quad$ where $k \geq 2$

Proof: Given is

$$
\begin{aligned}
\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n) & =\sum_{n=0}^{k}(-1)^{n} \times \frac{k!}{(k-r)!r!} \times(k+1-n) \\
& =\sum_{n=0}^{k}(-1)^{n} \times \frac{k \times(k-1) \times(k-2) \times \ldots \ldots \ldots \times(k-(r-1))(k-r)!}{(k-r)!\times r!} \times(k+1-r) \\
& =\sum_{n=0}^{k}(-1)^{n} \times \frac{k \times(k-1) \times(k-2) \times \ldots \ldots \times(k-(r-1))}{r!} \times(k+1-r)
\end{aligned}
$$

From above equation when $\mathrm{k}>1$ then $k \times(k-1) \times(k-2) \times \ldots \ldots \ldots \times(k-(r-1))=0$.

$$
=>\sum_{n=0}^{k}(-1)^{n} \times \frac{0}{(k-r)!\times r!} \times(k+1-r)=0
$$

Hence $\sum_{n=0}^{k}(-1)^{n} \times c_{n}^{k} \times(k+1-n)=0$ where $k \geq 2$ are proved.
2.2 Statement: Prove that $\sum_{n=1}^{k} n!\times n=\sum_{n=2}^{k+1} s(k+1, r)$

Proof: We know that $\sum_{n=1}^{k} n!\times n=(k+1)!-1$

$$
\begin{equation*}
\text { and } \sum_{n=1}^{k+1} s(k+1, r)=(k+1) \text { ! } \tag{1}
\end{equation*}
$$

From equation (2)

$$
\mathrm{s}(\mathrm{k}+1,1)+\sum_{n=2}^{k+1} s(k+1, r)=(k+1)!
$$

[From Stirling first kind numbers $\mathrm{s}(\mathrm{k}+1,1)=1$ ]

$$
\begin{equation*}
\Rightarrow \sum_{n=2}^{k+1} s(k+1, r)=(k+1)!-1 \tag{3}
\end{equation*}
$$

From equation (1), (3)

$$
\sum_{n=1}^{k} n!\times n=\sum_{n=2}^{k+1} s(k+1, r)
$$

Hence $\sum_{n=1}^{k} n!\times n=\sum_{n=2}^{k+1} s(k+1, r)$ is proved.

### 3.1. Approximate approach for sum of $n$ !:

There is no any direct formula for sum of $n$ ! but approximate approach is possible. Here sum of $n$ ! is derived by follow step by step result of $\frac{(N+1)!}{\sum_{n=0}^{N} n!}$.

We know that ( $\mathrm{N}+1$ )! Is always grater then to sum of n ! where $\mathrm{N} \geq 2$.

$$
\sum_{n=0}^{N} n!<(N+1)!
$$

Let us take $Z_{N}=\frac{(N+1)!}{\sum_{n=0}^{N} n!}$
For $\mathrm{N}=1,2,3,4 \ldots$ note down $N, Z_{N}$ value in a table. $Z_{N}$ Consist integer and fraction values.
Example: for $\mathrm{N}=3$

$$
Z_{3}=\frac{(3+1)!}{\sum_{n=0}^{3} n!}=2.4 \quad \text { Here } 2 \text { is integer and } 0.4 \text { is fraction value. }
$$

| N | $Z_{N}$ |
| :---: | :---: |
| 0 | 1 |
| 1 | 1 |
| 2 | 1.5 |
| 3 | 2.4 |
| 4 | 3.529411765 |
| 5 | 4.675324675 |
| 6 | 5.766590389 |
| 7 | 6.817720663 |
| 8 | 7.848769304 |
| 9 | 8.869899343 |
| 10 | 9.885500286 |
| 11 | 10.89761612 |
| 12 | 11.90734414 |
| 13 | 12.91534619 |
| 14 | 13.92205341 |
| 15 | 14.92776151 |
| 16 | 15.93268116 |
| 17 | 16.93696693 |
| 18 | 17.94073507 |
| 19 | 18.94407477 |
| 20 | 19.94705569 |
| 21 | 20.94973306 |
| 22 | 21.95215127 |
| 23 | 22.95434638 |
| 24 | 23.95634806 |
| 25 | 24.9581809 |
| 26 | 25.95986548 |
| 27 | 26.96141915 |
| 28 | 27.96285665 |
| 29 | 28.96419057 |
| 30 | 29.96543176 |

Table for $N$ and $Z_{N}$ values
Form the table conclude that $Z_{N} a N,\left\lfloor Z_{N}\right\rfloor=N-1$ and fraction values are considerably varying.
So that $Z_{N}=(N-1)+$ fractional values $(g(n))$ where $\mathrm{n}=\mathrm{N}-2$
Considered function is $Z_{N}=\frac{(N+1)!}{\sum_{n=0}^{N} n!}$ from this we can write as

$$
\begin{gathered}
Z_{N}=\frac{(N+1)!}{\sum_{n=0}^{N} n!} \\
=>\sum_{n=0}^{N} n!=\frac{(N+1)!}{Z_{N}}
\end{gathered}
$$

So if we now $Z_{N}$ value then simple to calculate sum of $n$ ! But fraction values are not following any functions so we can go through approximate function generating function for fraction values.

In sum of $n$ ! Fraction values (g (n)) approximate approaches generating functions:
Generating function for $0.4,0.529411765,0.675324675,0.766590389,0.817720663,0.848769304,0.869899343$,
where $N \geq 3$.
Approximate generating functions are

1. $g(n)=-0.0000386644 n^{4}+0.00182067 n^{3}-0.0314408 n^{2}+0.243991 n^{1}+0.175762$ (in quartic)
2. $g(n)=0.000738061 n^{3}-0.0214378 n^{2}+0.210043 n+0.207312$ (in cubic)
3. $g(n)=0.212168 \log (n)+0.429115$ (in logarthmic) Where $\mathrm{n}=\mathrm{N}-2, \mathrm{~N}>2$.

Generating functions graphical representation:


Approximate generating functions and Generating functions graphical representations are done with the help of Wolfram Math World software.

Hence $\sum_{n=0}^{N} n!=\frac{(N+1)!}{Z_{N}}=\frac{(N+1)!}{(N-1)+g(n)}$

## ACKNOWLEDGEMENT

I express my deep gratitude to management of St.Martin's Engineering College, Dhullapally, Secunderbad for helping the project successful. I would like to thank to Prof. Dr. Shashidhar reddy, Prof. RattyHally, and Prof. S Archana morey for giving fruitful suggestions.

## REFERENCES

1. Brualdi, R. A. Introductory Combinatorics, 3rd ed. New York: Elsevier, p. 119, 1997.
2. Cao, J.-T. "A Method of Summing Series and Some Corollaries" [Chinese]. Math. Pract. Th. 20, 77-84, 1990.
3. Conway, J. H. and Guy, R. K. The Book of Numbers. New York: Springer-Verlag, p. 106, 1996.
4. Guo, S.-L. and Qi, F. "Recursion Formulae for $\sum_{m=1}^{n} m^{k}$." Z. Anal. Anwendungen 18, 1123-1130, 1999.
5. Havil, J. Gamma: Exploring Euler's Constant. Princeton, NJ: Princeton University Press, pp. 81-82, 2003.
6. Duchet, Pierre (1995), "Hypergraphs", in Graham, R. L.; Grötschel, M.; Lovász, L., Handbook of combinatorics, Vol. 1, 2, Amsterdam: Elsevier, pp. 381-432, MR 1373663. See in particular Section 2.5, "Helly Property", pp. 393-394.
7. Sigler, Laurence E. (trans.) (2002). Fibonacci's Liber Abaci. Springer-Verlag. pp. 259-260. ISBN 0-387-95419-8.
8. Ogilvy, C. S. and Anderson, J. T. Excursions in Number Theory. New York: Dover, 1988.
9. Petkovšek, M.; Wilf, H. S.; and Zeilberger, D. A=B. Wellesley, MA: A K Peters, p. 86, 1996. http://www.cis.upenn.edu/~wilf/AeqB.html.
10. Press, W. H.; Flannery, B. P.; Teukolsky, S. A.; and Vetterling, W. T. "Gamma Function, Beta Function, Factorials, Binomial Coefficients." §6.1 in Numerical Recipes in FORTRAN: The Art of Scientific Computing, 2nd ed. Cambridge, England: Cambridge University Press, pp. 206-209, 1992.
11. Ribenboim, P. The New Book of Prime Number Records. New York: Springer-Verlag, pp. 22-24, 1989.
12. Sloane, N. J. A. Sequences A000142/M1675, A000197/M2187, A001163/M5400, A001164/ M4878, A008904, A019514, A020549, A027868, A046029, A046032, A046033, A046968, A046969, A049529, A061010, and A063979 in "The On-Line Encyclopedia of Integer Sequences."
13. Spanier, J. and Oldham, K. B. "The Factorial Function $n$ ! and Its Reciprocal." Ch. 2 in An Atlas of Functions. Washington, DC: Hemisphere, pp. 19-33, 1987.
14. Trott, M. The Mathematica GuideBook for Programming. New York: Springer-Verlag, p. 81, 2004. http://www.mathematicaguidebooks.org/.
15. Vardi, I. Computational Recreations in Mathematica. Reading, MA: Addison-Wesley, p. 67, 1991.
16. Wolfram Math World software.

## Source of support: Nil, Conflict of interest: None Declared

[Copy right © 2016. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]

